






Associated Feynman diagrams for 2 --> 2 scattering:

Note: Needed two powers of coupling A: Can make contact to
2nd order perturbation theory.

Our results can be summarized in the following Feynman rules

for calculating the contribution of a given diagram to -i F:

*) Write factor -i A for each vertex

Note: vertex and propagators are independent of each other!
Propagator: from free Lagrangian

Vertex: from interaction

In order to compute the transition amplitude for a given process:
have to sum all distinct Feynman diagrams that can be drawn
using the given vertices and propagators. Note: diagrams that are
related to each other by swapping vertices are not distinct:



*) Can also have closed loops in diagrams; e.g. 2 --> 2 scattering
in 

These can be treated using a slightly modifed set of Feynman
rules 



The calculation of some 1-loop diagrams will be described in the
lecture (QED).


